AABC similar

A4cpD

Acxecg= ¢DXAB

ch=

9.6

BP

BC .

AC _AD

AB B AB

2 L -
BC= ABXBD AT TABTAD

- AL

2, 2
BC TAC:E

2 g 2
AL CBVTAD)=AU

3.

AZ120 mnz= 6o

-I’l—o P A .ﬁ x; /60 11-:

200

-
P

3~ f

/60

/7 14

+he Pn‘m“f"'ve 'S Lo

200

2
AgSUume 344 =(

=

D (\3ML+(4I\"} = r\)L Hhere

exst (3N, N, fn)

S’a'h‘!}j thi's  ctntement,

1 (I ! |
D haie M:’mn‘y 'h"}/fj.

Fermat  prove  fhere are

W ¢ofnhon

ofr O\q—t }34 = cf

Fermat f}n‘nk 0&%’: cs

has o

D/n_l ukdn , but

leop hard

rdea s frue. when =S

0= " deesn't  have

5oh1 hon

1< F?ﬂ’ha'('lj

Last

Theopn .

Ahﬂ(}’ﬁw W\'lej JP"Ve ’[’lh(S l\S (OY”C‘(’ VA 'qu

T





{"type":"Document","isBackSide":false,"languages":["zh-cn"],"usedOnDeviceOCR":false}



